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St g& Jrgar qae
MENTAL ABILITY TEST
39 UH-UT | Hel 50 AT ¥ | UAF U UH 3k HT 2|

THERE ARE 50 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

S TR ST 1 T HITE W ¥ SA oRE HRHIT hT T g

(1) &9 % dear 9 (2) TUZ TR

3) URIH IFH (4) AIHAYSAN I |

As Altimeter is related to height in the same way Fathometer is related to
(1) intensity of sound (2) depth of ocean

(3) growth in plants (4) atmospheric pressure.

ST YR HieT G 97 €, SH TR A (Knot) T T §

(1) T (2) I (3 W (4) T
As Mile is related to Earth in the same way Knot is related to

(1) Ocean (2) Mountain (3) Planet (4) String.
I= 3 T U ° § 90T IR i g ¢

(1) AR (2) TEAR (3) TG (4) IR

Select the odd one in the question given below :
(1) Jaipur (2) Gandhinagar (3) Shimla (4) Ajmer.
TAAET U9 H A S TH o L THR & Y T SR K § | T SISl 3q9

In the following question, three pairs follow certain pattern. One pair is different.
Select the odd pair.

(1) 8:512 (2) 7:343 3) 6:216 (4) 15:3125.
TAAET JEA H oI YA 1 h T

Find the missing term in the following series :

21, 63, 189, _? , 1701.

(1) 567 (2) 721 (3) 954 (4) 1323.

T T Tl B 9 o US T T i

Choose the missing term out of the given alternatives :

MNBA, NOCB, OPDC, ?

(1) PQDE (2) PQED (3) DEPQ (4) DEQP.
IT HA Fich deh 9 H KANPUR’ &1 ‘LBOQVS’ ol ST €, o SHT Hich deh Ao
H NAGPUR’ Y ¥ T FIE T ?

If in a certain code language ‘KANPUR’ is coded as LBOQVS’, then in the same
coded language NAGPUR’ is coded as

(1) BOHQVS (2) OBHQVS (3) OHBQVS (4) DOHBQV.
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8.

10.

11.

FYT Gich dF 9T T ‘nee time see’ hl 31 ‘How are you’ 94l ‘blee nee see’ ol a7
‘Where are you’ &, dl $9 99T § ‘Where’ % U -9 Gich deh IS 1 T AT
TN E 2

If in a certain code language nee time see’ means ‘How are you’ and ‘blee nee see’
means ‘Where are you’, then which term is for ‘Where’ in that code language ?

(1) Dblee (2) nee (3) time (4) see.
ERTIAE, BRI DE, AH TAC Fh AT ENE, BH T FEIDH AH
Y T Y § 2

(1) e (2) e

B W (4) 9dI
A is son of E, D is son of B, A is married with F, F is the daughter of B. What is
the relation of D with A ?

(1) Brother (2) Brother-in-law
(3) Father-in-law 4) Husband.

JTAF AL FE AR GH C8, FH 964 D& R C H 9E J &, a J 1 =10
HAE ?

If Fis brother of A, Cis the daughter of A, D is the sister of F and Jis the brother
of C then who is the uncle of J?

(1) ¢ 2 A 3 D 4) F

(11-12) / Questions (11 - 12)
&I . T A G GO % ER W YT & IR 39
A+ B Sl 34 A Bl TaT |
A-B H 3G A, B &l Ul §)
AxB 13 A B 1 TE T
A+B H 3 A B & T &I

Direction : Give the answer of questions with the help of the following
information :

A + Bmeans A is father of B.

A - Bmeans A is wife of B.

A x Bmeans A is brother of B.
A + Bmeans A is daughter of B.

S—T+ZH AT T
(1) S zZHHAE 2 z SHITE
3) S zHEAEE 4) S,z e
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12.

13.

14.

15.

16.

(S5) MAT-1

S - T+ Zmeans

(1) Sis mother of Z (2)  Zis the daughter of S
(3) SisauntofZ (4)  Sis sister of Z

Sx T+ Z%H 319 &

(1) S,z S EETe 2) S,z UM

B3) S ZHUEE 4 Sz FEL

What is the meaning of Sx T+ Z?

(1) Sisuncleof Z (2) S is father of Z

(3) Sis brother of Z (4) Sis son of Z

T FATH Jd H AR T U &1 96 S UM 0 H 135° FAAT ¢ q& X 180°
T &TEd S A YHAT & | 3T I8 -Gl 39N H UE e TeT § ?

(1) SR (2) T EU-gE (3) IW-UREH (4) T U-UREH|
A man is facing east. He turns 135° in clockwise direction and then turns 180° in
the clockwise direction. Which direction is he facing now ?

(1) North-East (2) South-East (3) North-West (4) South-West.

TH SMRHN 370 R ¥ 5 FA g9 ht 3R T W T gHR 3 AN Fell, R T8
I FHHL 5 HH AT T8 URMTF &5 & hadl X & 2

(1) 3 HA 2) 4 HHI (3) 6 HHI (4) 7 HH

A man travels 5 km in the east from his house. Then he turned left and travelled
3 km, then again he turned left and travelled 5 km. Then how far is he from the
initial point ?

(1) 3km (2) 4 km 3) 6km (4) 7 km.

T T Y TALS I AR ST FHEA §, W] Al TR ¢

From the given figure, find the businessman who is farmer but not a politician :

fea=

Farmer

7
4_?\,5/3 «— AN
1

Businessman
2
Aar
Politician
(1) 7 2 5 3) 4 4 o.

T4 T o TR HT Hel e AT

(1)  WaRd, e Hal, gared (2) HeT, WS, WU
(3)  Hesll, TSI, THX @)  DHEI, ASHI, ASH|
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17.

18.

19.

20.

21.

22.

Choose the correct alternative of the given Venn diagram :

(1) Employed, girls, married (2) Hour, minute, second
(3) Vegetable, lady's finger, tomato (4) She-student, girl, boy.

'ENTERTAINING' V% & 3181 & &l I oTeTl hi=-HT 9% & ?
Which word cannot be formed from the letters of the word 'ENTERTAINING' ?
(1) INERTIA (2) TRAINING (3) TERTIARY (4) TREATING.
ST FoTHTen H 31T 3R @ IREd 18R & T 3R D37 1R HIH-91 & 2
Which letter will be the sixth to left of the twelfth letter from right end of the
English alphabet ?

(1) H 2 I B8 J 4) G.

T q T 3T +, b AT 3 +, ¢ N 3 - 3 d HT 31 x, A 24a6d459c8 FT AH &
If a means +, b means +, ¢ means — , and d means x, then the value of
24a6d4b9c8 will be

(1) 17 (2) 25 8 4) 16.

& & Y TA-ITA A A GHIH] ﬂﬁﬁ?ﬂ@f ?
35+7x5+5-6 = 34
(1) xR - (2) + 3T x 3) =+ 3 - (4) -3 +.
By interchanging which symbols makes the equation correct ?
35+7x5+5-6 = 34
(1) x and - (2) +andx (3) +and - (4) -and +.
T IISET T STUST VSEHhIT & AR Tel 79 &
The correct order of the following words in English dictionary will be

a. slunk

b slung

c. slump

d. slum.
(1) d,c, b, a (2) c,b,d,a B3 <c,a,d, b (4) a,b,c,d.
T T el HH HIF-9T & 2

a. o

b. @l

c. IO

d. T

e. dgI
(1) e,b,c,d,a (2) a,c,d,b,e (3) e,c,b,d,a (4) e, a,d,c,b.

What will be the correct sequence of the following ?
a. square

b line
C angle
d. triangle
€. point
(1) e,b,c,d,a (2) a,c,d,b,e (3) e,c,b,d,a (4) e, a,d,c,b.
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23. T T Wl FH HI-ATE ?

a. %ol

b. &l

c. oIS

d. o

e. FERII
(1) b,a,c,d, e (2) a,c,b,e,d (3) b,a,c,e,d (4) d,c, Db, e.a.
What will be the correct sequence of the following ?

(a) school

(b) child

(c) college

(d) salary

(e) service
(1) b,a,c,d, e (2) a,c,b,e,d (3) b,a,c,e,d (4) d,c, Db, e.a.

24. TUH W H Th BT Hl TS Gl SR & o 3 37k Hold & a4 Tdh Tord IR h
T 1 3% Fedl §1 T T8 60 W¥H 6T AT & AT 140 3ih U Il & ot
IR R T §
(1) 45 (2) 15 (3) 50 (4) 10.
In an examination a student scores 3 marks for every correct answer and loses
1 mark for every wrong answer. If he attempts 60 questions and secures
140 marks, the number of incorrect answers is
(1) 45 15 3) 50 (4) 10.

25. Ad B ﬁmaﬁww%lma&‘aﬁAﬁmBaﬁWmaﬁgﬂﬁ
g, ot A ‘oﬁr I 3T Al € ?
(1) 3639 (2) 3099 3) 2699 (4) 2099
Age difference between A and B is 10 years. After 16 years A’s age will be double
B’s present age. How old is A now ?
(1) 36 years (2) 30 years (3) 26 years (4) 20 years.

MW (26 -27) / Questions ( 26 — 27)

W P T H oA 9= (2 ) A HI

Direction : Find the missing number (?) in the given figure :

26.

(1) o 2 1 3) 8 4) 4.
27.

(1) 29 (2) 20 3) 24 (4) 44.
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28.

9§ T 3R / 3Pk / FEN H W U Fad 4 & ST 3P Ugel 7 hig GH G
g, 7 & ST TR (vowel) & AT 31k o1 § Y T E ?

In the given word / figure / sequence how many 4 are there such that just before
4 there is no even number and no vowel and just after 4 there is an even
number.

E432M4847U8467464519BB7U
(1) 1 2 2 B 3 4) 4.

1 (29 - 30) / Questions ( 29 - 30 )(\ )
I ¢ T GG GEAT T AT e i ST AT T3 T YA o I &l I

T T H TR F6uT i & oAU S % o9 8 T A @d 799 53 T |

D % o AEYIH ¢ F T8 —

i)  TAAH 50% 37T % T T R ST A |

i)  01.12.2014 Sl 21 T4 I 3T T T 7 & |

iii) WA % THT 50,000 To 37T Y Tkl &

qAT, T G T I Bl R FIAT & T —

a)  SWI® (i) H, F] FH-G-HT I T4 FH FE SIS I &, a Tg HHAT T
3TeeT o UTE ST S |

b)  IWRE (iii) T, T T F T FH-T-FT 30,000 To R Tk HE & iR

I 3T]T Y Gohell &, A TE HAHGT I3 o I §STT ST |

qﬁf?{@ﬁgﬂ%mwﬁﬁq—

a) £9[A HARI @T“‘ll'\{

b) B H YO TEél 34T ST

c)  TERYUT UGIRT 3TEAeT & UTq HST S

d) WU TR % IR ST ST |

Direction : Read the following information carefully to answer the given questions :

There are following rules to admit students in a Post-Graduate Management

course in an institution. The candidate must —

29.

i) be a graduate with at least 50% marks

i) not be less than 21 years on 1st December, 2014
iii) have paid Rs. 50,000 at the time of admission.
However if a candidate fulfils all other criteria except —

a) at (i) above, but has a working experience at least for 2 years, his/her
case is to be referred to Admission President.
b) at (iii) above, but has deposited Rs. 30,000 and rest of sum in a month,

then his / her case is to be referred to Director.
Give answers with the help of the following information :

a) The candidate is to be admitted.

b) The candidate is not to be admitted.

c) The case is to be referred to Admission President.
d) The case is to be referred to Director.

T I T 58% 3 F T TAH TN IV B § HARX IS IR a8 § 98 FHH
H TET €| ITUHT SFH 28 SHaRI, 1989 Hl §3T & AT YA & AT 50,000 To 37T
HR Fohell

Ram Sharma has secured 58% in the degree examination and he has been
working for the last 4 years. He was born on 28th January, 1989. He can deposit
Rs. 50,000 at the time of admission.

(1) a 2) b B) ¢ 4) d.
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30. W ol A Tk WIeN we Sl H Sl B ¥ A uwel IR a6 § Uh we o
<
IR & | SHHT 0 30 SIS, 1988 i T & | I8 YaI¥ & FHI 35,000 o 3 I
THT T H@R a5 37T Y Wahel! & |
Sonu Verma is a graduate with 1st Class. He has been working in an

organisation for last 4 years. He was born on 30th July, 1988. He can deposit
Rs. 35,000 at the time of admission and rest of the sum in a week.

(1) a 2 b B) ¢ 4) d.
U1 (31 -32)/ Questions (31 -32)
AW : YR WA 31 TH 32 H T o & WIE &, STH U GHE hl GHE- = F T
STR- = &< & | FHE- 99 U FH H UF & 9% U T gU ¢ | 30! IR- <1 H § Th
T o 1 g HAT €, ST GHE- T H FAMER 30 Sel ST 9ok | ¥t ST- = i A
1 7T |
Direction : In Question Nos. 31 and 32 there are two sets of figures. One set contains
problem-figures while the other has answer-figures. There is a sequence according to
which the problem-figures are arranged. You have to select one figure from the set of
answer-figures which can be placed in sequence after the set of problem-figures. Find
out the correct figure.

31. HHYT- I / Problem-figures 3d-d9 / Answer-figures

ciki=l20I=} { 'S [V
(D)

(A) (B) (C) 1) 2 @ 4

32. YHYT- I / Problem-figures 3d-d9 / Answer-figures
O g NO T —
(A) (B) (C) (D) (1) (2) (3) (4)

33. WA H W % S GYE €1 W A, B, C 3R D THE-TF qA1 T 1, 2, 3 F 4 IR
T ITATN BY ARES T &1 SR-99 ¥ T D I I97 Fh Tal T °T
Cd DH TTUT HI 9T
Question contains two sets of figures. Figures A, B, C and D are problem-figures
and figures 1, 2, 3 and 4 are answer-figures. There is a definite relationship
between figures A and B. Establish a similar relationship between C and D by
choosing a figure D from the answer-figures.

HHYET- 99 / Problem-figures 3d¥- 949 / Answer-figures

STl 7 | [elreferte]tect ol

O—
Oo— >

(A) (B) (C€) (D) (1) (2 @) @)

STSE/15 - MAT-1201 1201 [ P.T.O.




MAT-1 (10)

34.

35.

36.

37.

38.

39.

40.

WA HOR 9T 4 TR TS o9 3 A G HA Tél @I ¢ 1 39 a9et =
! AT 1 T

In the following question there are four figures. One of these does not correlate
with the rest of the figures. Find out the odd figure.

G |P|D|D

b d
(1) a 2) b c(s) c 4) d.

T P T T Y had A E ?

How many rectangles are there in the figure given below ?

e
N

(1) 7 2) 8 3) 9 (4) 10.
T @ T H A T E ?

How many triangles are there in the figure given below ?

(1) 10 (2) 12 3) 14 (4) 1637 A Yh (or more).
ST ST o W STER UH &, ST g07 0 o 9 @l § 2

How many letters in English alphabet remain same in mirror image ?

(1) 8 2 9 3) 10 4) 12.

T T T (X) BT UR Tehedi § ¥ gU07 Y o §

Out of the following four alternatives the mirror image of the figure (X) is

(Tl 4]

(X) (1) (2) (3) (4)
MPARI [ 5T YA &

Water image of MPARI is
(1) IN9AEI 2) IWNPVEI B IWBVIAI 4 INBVEI

TR FEed H W T T 9T (X) T AA AT €

Out of the four following alternatives the water image of the given figure (X) is

(X) (1) (2 3 (4

STSE/15 - MAT-1201 1201
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41. SMHT ML Pl YoT HA TG HA-TT Thoq & ?

Which of the alternatives completes the figure matrix ?

ajav
LY LA K]
LJR] e

PHAINIA

‘ (1) ((2) (3) 44
42, T TE AF Al H HIH-GT Tehed HHET ATF T T I TS HAT € 2

Which of the following alternatives represents grouping of similar figures in the
given figures ?

b A AT

a b f
(1) ad, bc, ef (2) ae, bf, dc (3) af, bc, de (4) ab, cf, de
43. T T IF | TAT bl WEAT &
The number of cubes in the given figure is
ISP
b K
41
(1) 20 (2) 30 (3) 56 (4) 60.
44, M9 UF UQ HI I Rt S TE €1 SWT Gag W 2 3k e of A B Gde & IHAh

E=a) (SR
The two positions of a dice are shown below. Write down the number at the
bottom when the top is 2 :

(1) 1 2 4 B 5 (4) 6.
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45.

46.

47.

48.

79T H Uk & O X AT E AT IR Thed T A, B, CIAR D W T €| Th IHeT
H T IS A F A T X W SR JOT i T

In the following question a key figure is marked X and four alternative figures
A, B, C and D are given. Select a correct alternative which fits exactly in key
figure X to form complete square :

< 55 L

(X) (A) (B) (C) (D)
1) A 2) B 3 ¢ 4) D.

;@;ﬁaﬂ MPT A B, C X DI TE &I HA-T A9 M aar § o 1 AT
?

Four figures A, B, C and D are given in the question. Which of the three figures
will form a square ?

—— ﬁ ]
(A) (B) (C) (D)

(1) ABD 20 ABC 3 ACD (4) BCD.
T T HH-Y THeT ¥ T F T X T TE THIT g ?

Which of the given alternatives will exactly make up the key-figure X ?

> [BRIE0

(X) a b c d
(1) a (2 b 3 ¢ 4) d.

T SMF T H T 3MF T (X) T 180° ATHIET FHH W HIH-Gl TF d U gt 2

In the following figure, find out how the key figure ( X ) will look like after
180° anti-clockwise rotation ?

(X) a b c d
1) a 2) b 3) ¢ 4) d.
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50.
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JMF T (X)F THSI i STed W HIA-Tl Tt ITR-3TF T T ?

Which correct answer-figure will be formed by joining the parts of the
figure ( X) ?

ZA\
L]

M2 5

(X) a b c d
(1) a 2) b (3) C 4) d.

URT- = § IRT SNF I W TH U 79d €1 SW-3MF T § ¥ HA-dl 3P d 31
Yo W SEIE € ?

The four problem-figures have certain common patterns. Which pattern figure
from answer-figures has the same pattern ?

HHYT- I / Problem-figures 3d-d9 / Answer-figures

A OOIC! [ololOolD

a b c d
(1) a 2) b 3) ¢ 4) d.
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SPACE FOR ROUGH WORK / % %™ & U ST
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SPACE FOR ROUGH WORK / % & & U ST
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